' _— _— L] | | | | | | | | | | | | | | | | | | | —_— _— 1 8-1 1/1 6" L] q | | | | | | | | | | | | | | | | | | —_— L] _— _— L] | | | | q | —
(475mm)
@ @ ] ] ] ] L} ] ] ] ] L} _— ] 9-5/1 6" L} L} ] ] ] L} | ] ] ] L] L] —_—
237mm
| | 11/16"
17mm

12400 Earl Jones Way
® Louisville, KY 40299
rev-a-shelf.com
. . Customer Service: 800-626-1126
>

Innovation through Organization”

S ———— e R

' ' B T T e S e [y vz
ot 287mm A * Ny
32mm
 CARE AND MAINTENANCE: | Parts List
20 MIN CLEAN WITH A DAMP CLOTH No. Description Qy 1 2 5 Z b
AND WIPE PARTS DRY L Metal Box ! T T . rad o
WATCH TUTORIALS OF OUR 2 Lid 1 =G = o s
PRODUCTS BEING INSTALLED 3 Shdes > . e / 5 E
4 Slide Covers 2 ! ™~ . :
@ ° 5 Lid Holders 2
6 Door Mounting Brackets 2
WWW.REV-A-SHELF.COM/VIDEQOS 7 Door Mounting Covers 2 / wx 8 ? 4
8 Plugs 4 M ] A
‘ 9 Waste Bins 2 P II ¥
10 #8x1/2" Pan Head Screws 12 | | II
11 #8x5/8" Flathead Screws 8 T4 - -
L H 11/16" | 1(27151411% = 12 M4x5 Machine Screws 4 T~
(17 mm) lf_ (35)57/:73;1) 13 #6x1/2" Flathead Screws 6
FIGURE 1 A3 = 14 | 1/4-28x1/2" Machine Screws 2

1-1/4" (32 mm)

‘ v (83 mm)

l« 11-5/16" _,Y

(287 mm) 1-1/4"
-1/2" (38 mm) (32 mm) STEP 2 FIGURE 2 STEP 3 FIGURE 3

Extend the slides and mount
the metal box using the (4)
M4x5 machine screws (See
Fig 3).

1

—_

STEP 1

Place template and mark hole
locations for the left hand slide.
Then attach each lid holder using
(3) #8x1/2" pan head screws

and each slide using (4) #8x5/8"
flathead screws (See Figure 1).
Flip the template and do the same
for the right hand slide.

Place the slide covers over the
slides (See Fig 2).

| CABINET REAR WALL

ONIN3dO L3INIgVD

CABINET FLOOR

Mark and pre-drill mounting
holes using measurements in
figures 5 and 6. Attach door
mounting brackets using (6) 5/8" (16 mm)

#6x1/2" flathead screws. BETWEEN HOLES

v

Place the (4) plugs over the
cylindrical screws (See Fig 4).

HOW TO DETERMINE YOUR DOOR OVERLAY:

Measure Opening Height

Measure Door Height

- —_—
| H 1-7/8" (48 mm) + :.: Height Difference
(1 * 2-1/2" (64 mm) o | B T Divide Difference by 2 = Overlay
h —_ J|. -.1
N J .
B “w
+ Door
Overlay
‘ ’ Part Number B
53TM-1835GSCDM2-FL 10-7/8" (277 mm) L !
> 53TM-1850GSCDM2-FL 14-7/8" (378 mm)

13/16” (20 mm) 53TM-18GSCDM3-FL 11-1/8" (282 mm)
+ Door Overlay
53TM-24GSCDM4-FL | 11-11/16" (297 mm)

‘ STEP 6 FIGURE 7 STEP 7 FIGURE 8

Align the door brackets to the e Adjust the door using the o eE— A=A
slide covers and attach with (2) o . iy, adjustment screws (See Fig 8) | =SS
1/4-28x1/2" machine screws ; I-' b h e until the door is centered and
and washers (See Fig 7). ¥ -E*'fﬁ‘k\‘ e flush with your frame. |
b _.-h-. < . y H'\"' - — ik
Y- AT/ \
# e
k. i ""\-\.‘_\_ ’
X‘éﬁﬂgﬁ\; N TILT ADJUSTMENT

35qt BIN -

STEP 8 FIGURE 9 STEP 9 FIGURE 10

Place the door mount covers Place the lid on the holders
over the door mount brackets - and insert waste bins.
(See Fig 9). (See Fig 10).

T-53TM-0619

50qt BINS




® 12400 Earl Jones Way
Louisville, KY 40299
rev-a-shelf.com
R€ u ‘ H .SHG L F Customer Service: 800-626-1126
Innovation through Organization

MONTAJE SUPERIOR DE CONTENEDOR DE BASURA DE ACERO INOXIDABLE DE LAS SERIES 53TM
POUBELLE EN ACIER INOXYDABLE DE LA SERIE 53TM AVEC MONTAGE PAR LE HAUT

1 | I
Herramien.tas reqyeridas: Tiempo estimado de ensamblado Cuidado/ Entretien: LISTA DE PARTES / LISTE DES PIECES 1 oy 2 4 '-"l .
Outils Requis: Durée de I'installation: Descripcién / La description # * i » -- 2
. . N . . AT -~ Z I .."'-\. ‘I:_'\- ;
20 M I N leple con un pafio himedo y 1 Caja Metélica / Boite en métal 1 S -.__.J, ~
Lub .sequle las partesa | 2 Tapa / Couvercle 1 i S
VER VIDEOS DE _ubrique los puntos de los - - o
INSTALACIONES DE PRODUCTOS pivotes como sea necesario. 3 Deslizantes / Coulisses 2
REGARDER DES VIDEOS 4 Cubiertas Deslizantes / Couvercles des coulisses 2
DYINSTALLATIONS DE PRODUITS Nettoyer avec un Chiﬁo,n 5 Sujetadores de la Tapa / Supports de couvercle 2
humide et essuyer pour sécher :
com Ietement. Lub(lﬁgz les points 6 Soportes de Montaje para Puerta / Supports de Montage de Porte 2 5 ’ 8 9
e pivotement si necessaire 7 Cubiertas de Montaje para Puerta / Couvercles de Montage de Porte 2 &
- Falr o
WWW.REV-A-SHELF.COM/VIDEOS 8 Tapones / Fiches 4 o (¥
9 Contenedores de Basura / Poubelles 2 &
#
10 | Tornillos de Cabeza de Sartén del #8x1/2" / Vis a téte cylindrique #8x1/2" 12
11 Tornillos de Cabeza plana del #8x5/8" / Vis a téte plate #8x5/8" 8
" 18-11/16"
(1 ;/:ném) 4—9 16" (475 mm) — > 12 Tornillos de Maquina M4x5 / Vis machine M4x5 4 10 14
.« 9
k‘ (237 mm) |- 13 Tornillos de Cabeza Plana del #6x1/2" / Vis a téte plate #6x1/2" 6 o |
A " I
FIGURE 1 ! (g;r/fm) 1-1/4" (32 mm) 14 Tornillos de Méaquina de 1/4-28x1/2" / Vis machine 1/4-28x1/2" 2 'Eﬁ_,
‘ =
11-5/16"
D —
T (287 mm) 1-1/4" il
’ 1-1/2" (38 mm) (32 mm) 3 FIGURE 2 -
PASO 1/ ETAPE 1 A Q = PASO 2 / ETAPE 2 PASO 3 / ETAPE 3 FIGURE 3
|
Coloque la plantilla y marque % D<f Coloque las cubiertas Extienda los deslizantes y
las ubicaciones de los orificios g & deslizantes sobre los monte la caja metalica usando
para la guia superior izquierda. Q i deslizantes (ver la figura 2). los cuatro tornillos de maquina
Luego, sujete cada sujetador de o z M4x5 (ver la figura 3). |
la tapa usando 'tres tornillos :Ie g 2 Placez les couvercles des ' -
cabeza de. sartén del #8x1/2 y CABINET FLOOR o | coulisses sur Ies COUIiSSGS (Voir Etendez Ies COUIiSSGS et
cada deslizante usando cuatro Illustration 2) montez la boite en métal avec
tornillos de cabeza plana del les 4 vis machine M4x5 (voir
#8x5/8" (véase la Figura 1). Gire Illustration 3)
la plantilla y realice lo mismo con ustration 3).
la guia inferior derecha. L
1
Placer le gabarit et marquer :
I'emplacement des trous pour
la glissiére supérieure gauche.
Ensuite, fixez chaque support
de couvercle avec 3 vis a téte
cylindrique #8x1/2" et chaque
coulisse avec 4 vis a téte plate
#8x5/8" (voir figure 1). Retourner
le gabarit et faire de méme pour la
glissiére droite inférieure.
FIGURE 5
PASO 4 / ETAPE 4 FIGURE 4 PASO 5 / ETAPE 5 - FIGURE 6
Coloque los cuatro tapones Marque y pre taladre 5/8" (16 ) ggnglspli;?"rl:slxﬂ%?:\lljgﬁé fxggfggg ISD?;’ORTE:
sobre los tornillos cilindricos orificios de montaje usando mm
(ver la figura 4). las medidas en las figuras 5 ENTRE ORIFICIOS
y 6. Sujete los soportes de ENTRE LES TROUS Mida la Altura de la Apertura / Mesurez la hauteur d’ouverture
Placez les 4 fiches sur les vis montaje usando seis tornillos s
cylindriques (VOif' Illlustration 4) de cabeza plana del #6x1/2". | i \ 3 YI Mida la Altura de la Puerta / Mesurez la hauteur de la porte
M . ) | r'! 1-7/8" (48 mm) + :l': - Diferencia de la Altura / Différence de hauteur
arquez et pré-percez les | [ * - .
. 2-1/2" (64 mm) —= Divida la Diferencia entre 2 / Divisez |
trous de montage en Ut’!'sant :F | I..,‘ T Différaenace pz:ezn e = Puerst-ea strepuesta / Appliqué de la porte
I5es n:ses’gres 7es IIIustrat:on B f i q e
et 6. Fixez les supports ? . + PUERTA o > v >
montage de porte avec 6 vis a SOBREPUESTA o
téte plate #6x1/2". APPLIQUE DE LA \g
PORTE
l Part Number B
‘ —| | 53TM-1835GSCDM2-FL 10-7/8" (277 mm) Ll
13/16" (21 mm) 53TM-1850GSCDM2-FL | 14-7/8" (378 mm)
PASO 6 / ETAPE 6 +PUERTA’SOBREPUESTA 53TM-18GSCDM3-FL 11-1/8" (282 mm)
. APPLIQUE DE LA PORTE 53TM-24GSCDM4-FL 11-11/16" (297 mm)
Alinee los soportes de la
puerta a las cubiertas de los
deslizantes y sujete con dos FIGURE 7 PASO 7 / ETAPE 7 FIGURE 8
tornillos de maquina de 1/4- i .
28x1/2" y con arandelas (ver i Ajuste la puerta usando los =T
la figura 7). — g, 8 tornillos de ajuste (ver la figura |
4 ha | 8) hasta que le puerta esté
Alignez les Supports de porte centrada Yy al ras con el marco. i
aux couvercles des coulisses et ) ] - :
fixez avec 2 vis 1/4-28x1/2" et Réglezlaporteaveclesvisde
rondelles (voir I'lllustration 7). réglage (voir I'lllustration 8) jusqu’a
ce que la porte soit centrée et
alignée avec votre cadre.
:égSLLEG\éE\sg.‘I?%ACLAL AJUSTE DE LA INCLINACION
REGLAGE DE L'INCLINAISON
PASO 8 / ETAPE 8 FIGURE 9 PASO 9 / ETAPE 9 FIGURE 10
Coloque las cubiertas de Coloque la tapa sobre los
montaje de la puerta sobre sujetadores e inserte los
los soportes de montaje de la contenedores de basura (ver
puerta (ver la figura 9). la figura 10).
Placez les couvercles de Placez le couvercle sur
montage de porte sur les les supports et insérez les
supports de montage de porte poubelles. (Voir I'lllustration 10).
(voir I'lllustration 9).
I t I T-53TM-0619




